1. FEEFEER T 2WEUKAFE (6 A EIT 1FRH)

se LSRRl R (BRUEE 2 ST )

FEE A TR D B 14

(R o oD 4 HRL 5 |0 5

£ A M M
£ A M M
£ A M M
£ H M M
£ H M M
£ H M M
£ H M M
£ H M M
£ A M M
£ A M M
£ A M M
£ A M M
& & A M B M

WS A7

(A/B) X 100 = %

2. e bEE

FHEHOBIREZ =% E0E 1 »AMO%E EE% | C ORISR 2 BiERY 058 F s
# A C M £ Al D M
C O 2 A D RIARTE EE%E E OISR 2 RiED 2 20 A B8 ks
£ H M £ A M
£ A M £ A M
2 HE E M 20 HE F M
C+E ! D+F !
W5OT 1A Mo EEss
(D—C) X 100 =_JEPHE % (FEfR)
D

*

W5t 3 7 H B0 Fe b o3 HaA
(D+F) — (C+E) X 10
D+F

0]

FRoOBYMREH D FEA
o F A A
3
(E

K 4

)




